Quiz5:  Dr. Hahn Greenville Tech 4/13/21 Print Name ,@lx\/

Show work for all questions for partial and full credit. (25 pts total) /
1. (a) Given the following two Lewis dot structures which i corref.\’
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3. Show the Lewis Dot Symbol for The element

4, Show one correct resonance structure for the following. (5 pts)
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Extra Credit: ~ (a) What is the VSEPRT shape for the molecule SFg ? G C’t\

What is the VSEPRT shape for the molecule NOs "é‘w\ S0 ﬁi /) (@‘?\QV‘ (1/2 pt)

the gas? (PiVi=PsV¢) (1 pt) U i
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(c) Convert 780.2 mm Hg to mosphere Showwork (1/2pt) - E

(d) Given the equation/If th essure of agasis O 98 gt% a volume of 1.7 Liters at a temperature of 273.

what is the t1.03 atm and 398.8K? (1pt)
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